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$19.1: AANFEFT1H1H KATIHAEA10007C 1) 5F 816557,
A F 6%, FFFEI12H31H AR . 745 R %
T3 SR B RN R 8% .. MiZ i AN B 2

60 60 60 60 60 + 1000
PV = 1T 2 T 3T 7 T 5
(1+8%) (1+8%) (1+8%) (1+8%) (1+8%)

=60xPV, (8%, 5)+1000xPV(8%, 5)
=60x3.993+1000x0.681
=239.58+681

=920.59 (J0)
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IR EAR N2 6%, WL THE B i ge i 2 -

PV=60%PV (6%, 5)+1000xPV(6%, 5)
—60%4.2124+1000*0.7473
=1000 (JC)

SRR, fFirprag s AL e,

AR b BRI AR 4%, Wiz i A

PV=60xPV , (4%, 5)+1000xPV(4%, 5)
=60*4.4518+1000%0.219
=1089.01 (J0)

SRR, etk e T mE.
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MBI 9. | F iy 21 15 Hi‘l‘ET,

8%}, o2 HIHT{E A2 -

HEYTR 1*#17"% 23 1] 45
H i & e

RN AR, DEHRIRET

PV=60xPV (8%, 2)+1000xPV(8%, 2)
=60*1.7833+1000%0.8573
=964.30 (J1) >920.59 (J0)



#19.174, FERNHHE R NSEERS, i3 {E 42920.58, 21} [A]
FE2FE 964.30151920.58, [AITHE 10005E1T T -

o NSRBI R A%, BN (A48 % 024, WAiTF R
(ER=X
PV=60xPV, (4%, 2) +1000x PV(4%, 2)
=60x1.8861 -+ 1000x0.9246
~1037.77(3C) < 1089.01 (%)

o WRDERINFEN6Y%, 5T EEMAHRES, B E] 4558
I B R UME A -
PV=60xPV, (6%, 2)+1000xPV(6%, 2)
=60x1.83344 1000x0.8900
=1000(JG)
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